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1. What does the boy think of science?

A. Tt is the most boring.
B. It is his favorite subject.
C. He doesn’1 like science.

2. What subject will the boy work hard next term?

A. Math and science. B. English and history. C. Science and Chinese.

3. What would the woman like to drink?

A. Tea. B. Coffee. C. Orange juice.

4. What should the boy do?

A. Stay at home. B. Take some exercise. C. Take some medicine.

5. How often does the girl have an English class?

A. Once a week. B. Twice a week. C. Every day.
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6. Where are the two speakers?

A. In a restaurant. B. At the camping site. C. In a hospital.
7. What kind of lunch will the two speakers have?

A. A big one. : B. A simple one. C. A usual one.
8. What is the man going to do next?

A. Light a fire. B. Fish. C. Have lunch.

WrsE 7 BAbRl, EESR 9 = 11 A,

9. Can the man take the 7:00 train to New York?

A. Yes, he can. B. No, he can’t. C. We don’t know.
10. What will the man do in New York?
A. Take a holiday. B. Go on business.

C. Attend an important meeting.
11. Which train will he take to New York at last?

A. The 7:00 train. B. The 8:00 train. C. The 8:30 train.

WrsE 8 BokbkL, mIESE 12 & 14 |,
12. Why hasn’t Rose got the e-mail yet?
A. She has no time to check it.
B. Her computer doesn’ t work.
C. She is repairing her computer.
13. Where was the man’ s computer made?
A. In his home. B. In Japan. C. In Shanghai.
14. What’ s the relationship between the two speakers?

A. Friends. B. Teacher and student. C. Sister and brother.

Wr%E 9 Bokbkl, EI&SE 15 F 16 @,
15. Where are they going?
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A. They are going to Town Cinema.
B. They are going to their school.
C. They are going to Screen City.
16. Why doesn’t the girl like Town Cinema?
A. Because it is too small.
B. Because they don’t show new movies there.

C. Because it’ s not the cheapest.

WrEE 10 Brbbht, B4 17 % 20 R,

17. How many Americans are on a diet these days?

A. 17 million. B. 70 million.

C. 7 million.

18. What would people do if they can’t lose weight on their own?

A. Depend on Ice Cream Diet.
C. Depend on diet pills.
19. Which name of the following is mentioned?
A. The Ten-Day Wonder Diet.
C. The Easy 24-Hour Diet.

20. What’s the speaker’s attitude towards losing weight?

A. Disagree. B. Agree.

B. Join diet groups.

B. The Candy Diet.

C. Not mentioned.

Wy 3 0 R (A0 P38 10 Bkt ARSE BT T P A8 SEAR AR 17 - 20 1, B2 At =4 2,

The number
As many as 17
of dieters
Food 18 , diet candy, and diet salad dressings
19 Exercising Using exercise machines;
‘ Medicine
Measures jogging
Joining 20 offering help and
Other
encouragement
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1. What is the possible relationship between the two speakers?

A. Husband and wife. B. Mother and son. C. Friends.
2. Who is the owner of the book?
A. The man himself. B. The man’s brother. C. The woman’s brother.
3. What are the two speakers talking about?
A. A football team. B. A famous song. C. A singing group.
4. How does the woman feel?
A. Overjoyed. B. Angry. C. Surprised.
5. What will the two speakers probably do?
A. Go to see a film. B. Go cycling. C. Go sailing.
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6. Where did Alice go on vacation?

A. To the US. B. To France. C. To Britain.

7. Which of the following didn’t Alice do there?



A. Going to the beach with her parents.
B. Going to see Eiffel Tower.

C. Taking some pictures.
8. Who lives in Paris?
A. Alice

Wreh 7 BekbRL, EESE 9 E 11 &,

9. What are they doing now?
A. Roller skating.
10. Where did Anna grow up?
A. In America.
11. Who are talking now?

A. Two strangers.

WS 8 Bebbkl, EI&SE 12 2 14 M,

12. Why is Mary sad?

A. Because she hasn’t been to Europe.
B. Because her parents forgot her birthday.
C. Because her parents can’t celebrate her birthday with her.

13. Where are they going to have Mary’ s birthday party?

A. At Mary’ s home.

14. What will Kathy take to the party?

A. Some ice cream.

D O BbR, EIESS 15 5 16 1,

15. What is Tony doing now?
A. Watching TV.

A. A vet.

W— iR AL =)

B. Alice’ s grandparents.

B. Boating.

B. In Argentina.

B. Two classmates.

B. At Southeast Center.

B. Some flowers.

B. Reading a book.
16. What does Tony want to be when he grows up?
B. A singer.

. Alice’ s parents.

. Swimming.
. In South Korea.

. Two close friends.

. At Hill Restaurant.

. A cake.

. Looking at animals.

. A teacher.
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17. How many books can a student borrow at a time?
A. Two. B. Three. C. Four.
18. What will happen if they don’t return the book in time?
A. The librarian will report them to the headmaster.
B. Their teachers will scold them.
C. They can’t borrow books any more.
19. How much will they have to pay if they lose the book?
A. The same amount of money as the price of the lost book.
B. Twice as much as the price of the lost book.
C. Three times as much as the price of the lost book.
20. Which of the following is NOT right?
A. The students can discuss questions in the library.
B. The students should keep quiet even outside the library.
C. Magazines should be kept in good order in the library.

Ur P HZ R GEM) < UTEE 10 Bobtkt, BREEARBT IR B 0015 B2 U TSI RM 48 17 = 20 1, 45
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How long they can

The students can keep the. books for 17
keep the books

How to renew a book | The students must come to the library with 18 .

What if they lost the

book The students should report that 19 and they have to pay for it.
00

When in the l‘ibrary The students ought not to talk or 20 in the library.
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1. At what time does the office open?

A. 7.45. B. 8:17. C. 8:00.

2. What did the man do last Saturday?

A. He saw a play. B. He acted in a play. - C. He went to the teahouse.
3. What does the woman want to do?

A. Go to sleep. B. Waich TV. C. Go out,
4. What is the weather like now?

A. Rainy. B. Cloudy. C. Sunny.

5. What are the two speakers doing?
A. Playing a football game.
B. Cheering for Oxford.
C. Watching a football game.
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6. What are they talking about?

A. Their favorite food.
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B. The menu for lunch.
C. What they will have for meals today.
7. What does the girl like?

A. Rice. B. Dumplings.
8. Which does the boy like better?
A. Rice. B. Noodles.

WrEE 7 BebbRL, 9 B 11 &,

9. Who is ill?
A. Mr Brown. B. Bill.
10. How long will the boy be away from school?
A. One or two days. B. Two or three days.
11. What is impossible for Bill to do today?
A. To go to school. B. To see a doctor.
WrES 8 Brkbkl, EIESE 12 £ 14 L,

12. How far is it from their school to the Sunshine Town Zoo?

A. Only a 50-minute walk.
B. Only a 15-minute walk.
C. Only half an hour’ s walk.
13. Where is the woman after she turns left?
A. On School Road. B. In the zoo.
14. Where can the woman get a cup of coffee?

A. In the zoo. B. On Queen Street.

WrEE 9 Bebtkt, B 15 £ 16 &L,
15. Why can’t the woman find the way?

A. She has never been to Dalian before.

B. Dalian has changed a lot.

C. Her daughter didn’ t tell her the way.
16. Why didn’t her daughter come to meet her?

A. Because she was too busy.

B. Because she didn’t like her mother.

C. Noodles.

C. We don’ t know.

C. Sam.

C. Three or four days.

C. To stay in bed.

C. On Queen Street.

C. In the park.
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C. Because she didn’t know her mother had come.

WrSE 10 BEbORt, [BIE5E 17 % 20 4, _
17. What are the toys made by Webster Toys like?
A. They are good and interesting.
B. They are good and expensive.
C. They are interesting and cheap.
18. Which of the following is RIGHT about the person they are looking for?
A. He or she must be between the ages of 35 and 40.
B. He or she should already have some years’ experience of selling.
C. He or she should speak English well or know a Far East language.
19. What is the most important thing the person should be able to do?
A. Know Far East quite well.
B. Make more money than ever before.
C. Know where to find new markets.
20. Where will the person work if he or she is employed ?
A. In a Webster’s office in Singapore.
B. In Japan.

C. In an office to be built in a new market.

Wr A1 R () TSR 10 Beb bt AR HB AR BT T B0 15 B 2R T 3848 5028 17 %8 20 ;8
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Webster Toys Company

What to do Look for someone to sell our toys in the Far East.

Requirements @ Between the ages of 17 .

@ Have some years’ 18 of selling.
@ Speak at least 19 of the Far East, as well as good English.
@ Most importantly, 20 money and make more than ever before,

for himself or herself, and for Webster Toys.

Where to live and work | In Singapore.

Contact me Write to Mr J. Sloman at our Head Office.
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1. What does the woman mean?

A. She is too busy to go.

B. She’s willing to go swimming.

C. She enjoys the wonderful weather.
2. What happened to the man?

A. He had to do other persons’ jcbs.

B. Nobody would like to help him.

C. He had to take Mary to hospital.
3. What does the woman mean?

A. She has to do other things.

B. She doesn’t like the film.

C. She will not attend her sister’ s birthday.

4. What is the man going to do tomorrow afternoon?

A. Paint the front door.
B. Weed the garden.
C. Wash the car.

5. What color is the woman’ s dress?

A. Blue. B. White. C. Green.
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6. Does Bill exercise every day?

A. Yes, he does. B. No, he doesn’t. C. We don’t know.

7. How often does Bill eat vegetables?

A. Every day.
B. Three or four times a week.
C. Two or three times a week.
8. What does the woman think of Bill’ s lifestyle?
A. Unbhealthy. B. Healthy. C. Unbalanced.

Wrsh 7 Bepbkl, &SS9 = 11 48,
9. How is the woman’s life in the New Year?
A. Not good. B. Very good. C. Very bad.
10. What’ s the woman’ s secret of looking younger?
A. Eat healthily. B. Do more exercise. C. Keep smiling.
11. When will the man follow the woman’ s advice?
A. When the weather is warmer. . B. Today.

C. Tomorrow.

WTSE 8 Bikti, [FI248 12 % 13 &,
12. When does the conversation take place?
A. ‘At lunch time. B. At one o’ clock. C. At noon.

13. What will the two speakers have for lunch?




